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Proportional VS. Non-Proportional

@irections: Tell if the situation is proportional or non-proportional and explain how you know.
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The locakpagl charges $50 regjstrationfee plis
$18.25 per :
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Scotf, earns $7 an hour mowing lawns " r
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Rental car costs $25 per day plus $0.45 per mile.
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A skating party charge for up to 10 guests
and then $5.00 per additional guest.
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Geri drove 455 miles in 7 hours
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12 apples cost $1.60

Pa no “m aatker wha®
AU et :

The local pool charges_g)rregistration fee plus
$18.25 per month. @
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